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@) 2.5 e 3.5 @d. (5) 3.5 &0 3.5 @O.

3 @2x+5) cit sow oped

(¢)) 22::1:,-4»5 ?2) 22::x,+50
3 203 5+5 @) 203 x+50
) 202::x,+10

OHD IR LTI,

A - oc» Emme (Control Unit), o 0&ndw 0 molis dmma (Arithmetic and Logic Unit)
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(5) om=3&m so@rime
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4. coed qmledn obf nbvec Bn H5 On8IE O my exngees twds PR =IO
o0 g1 4kg o0 2kg d0530 o8 03 e sensin. dnsldo 2 kg O O30 8dd gmd 12N
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n n 12N
() 2N (2) 4N (3) 6N 4) 8N (5) 10N
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As I 0 30 45 60
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: o i (3 I5N 2 | & | 3
A (4) 45N cos | B 5|3
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m = @ E (3) 2E @) 3E () 4E
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gédm 8&rn0ot y& 8€mt gdm 8&€mot géds 8&m0t g&d 8&€mct
gmo | cmo | gme | eme | gme | gome gotocd oo Gored o>

ellest aflenL ellevrm aflemL @s6v. allesrm aflenL @6v. eflestr allemL sllestr allemL
@eov. @6v. @6v. @6v. @ev. @ev. @ev. @e6v.

o. |1 __| m |__L__ | 2 | __3 | 3. |--2-| s |--F_
02. |2 | 12 | __5 | 22 | 2 | 32 |--3._| 420 |--3_.
03. |__4__ | 13 | __L__ | 23 | _1.__| 33 |--2_| a3 |--A_
o4. | 5 | 14 | M2 | 24, | 2 | 34 | VY | 44 |__2__
0. | 2 | 15 | 4 | 25 | 3 | 35 |_.%__| a5 |_.3 __
6. | 5 | 16 | 2 | 2. | 2 | 36 |_.3__| 46. |__1___
07. | 4 |y | 3 |2 | 0 | 3 | 5| a7 | A
0. | 3 | 18 | 5 | 28 | 2 | 38 |_5_ | a8 |_53 _
09. | 5 | 1. | 3 |20 | 4 | 39 | %2 | a9 | 3
1. | 4 |2 | 2 |30 | 5 | 4 |_5 | 50 | '

O Bews coect/ oI SifamisSHed :

O 8BomO/ @m sflwmer alemLsEe @€ 01 dBs/yerel eigw
B0 e/ Curssl Leteflse

01 X 50 =50
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8 oo Bvn @¢ulned®xsind cwes edadmweh

‘b n-‘..."g
M iy

() A ey Bopasnsd se»

G,
A dioeton O Donsinde (05 marks)
- B dicolon q’fﬁﬁm as;zsfmdc.s (05 mark_sT

(i) § cmed 20Bn Uunzind €O g consa oz,
Bowthde, msiemEy, 8BS, 85Gaeee, 8 8514, §i8s 0E, 0B e¢dhe.
Any two correct answers, provide marks only for the first two (05 marks x 2)

(iii) 20282 o (EHED LowSENESE 0l VBl Nednd ecod Cusim,

o8 AN |
580 2w 2c v ™ chenPur @m I8 Sudd mediied
558 mm #6 MO Ho G8. o FAS eem el nnd sBean
90E ecdd 30O ad eBHT am.
‘ ORE ce¥d E00TDaE .
(Offer 10 marks when the fact is correct for both primary and secondary)
(10 marks x 2)
(B) Soliom €18 tonfodun p=8RUNe con Jionives el osd Hilon U8
Sxnrindsd P, Q. R, S oxfl gen lesdis 08 23 25 tinds o8 ooddn
X
f PSR csnrinassiss
| &
‘ Bam
Q 3 Cisanisasosavainaawvans
34, s Bam
IS R R T A S O N Do (et
. S *’%"E ...............................
| @8 DD
; S e S
{03 marks x 5)
1C) e @3 2985 emnl $Rcl iy Sonsins mS0 mis Sa ve 0D @
(i) =820 £ Loy 588 o e 2 &Kl »HE nIsin

=D, Bewiad, g»Ed0H, viixnd, O8usI08sy
(05 marks x 2)
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(it) =S

£z Ed oo 25 o endkbhaBED eyl ecod Bozis,

S S880 sundE
gm D80 edow
gmEfsl gmdlinme 88, sGeidinirl/Drndvmnnar! fcdy 28, adnmd
mBaim ot 80 Eedhnly £2.
Any two correct answers, provide marks only for the first two (05 marks x 2)

{ 1 = e -, - - L = - Fu] - - a - a .
(D) Exmusiaden Celel olidsnal mdno § aooed als edican 80 gldas o0 28
oo od=bm o o o
(1) ed= adinama o SoxrD D &GS o ol g o® oozis

gm0 (2nfudn 50 @ Sodis vlm)
Any two correct answers, provide marks only for the first two (05 marks x 2)

(il) b= adioes Exloos B84 gy olen ealo ood Forr=ag

HEa, madin culsn, gmiiin eudsn, D50m eda (eudeBim), SDE®
Any five correct answers, provide marks only for the first five (03 marks x 5)

Question 02 = Total Marks 100

(02)

R, S-S0 ui& 205y 01 03g 1 Op

e iBonids (100 g) + o€ (100 2)+ | 02 l 04 g 0.7 ¢

(B (5 ) @S o3| 03g 0.6 ¢

nest omnce |4 03¢ 03¢

05 | 03g 02g

cSmtud mons OHED oS 06 02¢g | 02¢
07 | 02 00g
08 0.1g L oo0g

09 | 0. g 1 00 g
10 o1g | 00g |

{A) Ge

2d 1000 g = =fo &g =3 danle
&
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(05 marks)
(it) oo eclen deod ooz B gFed qiS?
#0:@ ¥eed & 880 / BEDaP glenisene mF AP0 (med)
(05 marks)
= 1000 g = e §u og B0 Byaied cuatte 2 °C B oy B,
@ SIS Cdrauiny ¢ oS irsn same oKD
B8 =42])g'°CY)
=mc A8
(05 marks)

=100gx2x4.2)g*°Ct
(05 marks) S=m g2ws 2nm

=840
(04 + 1 marks)
(11} 28 doed Tala® oSS ooec A DIEn.
(88 L8 doziva = 60 ¢ mol™!
@830 FA® 525 8 D5 5O ¢ ox¥rn eBa 840 J (cwi i 8EnJ)
(05 marks)
@B r® 60 (9 B & 2 5O nxtHe =840 ) x 60/5
{05 marks)
=10080J (10.08 ki)
(04 +1 marks)
(C) @021 5.0 g ddcod §u =g BO NH gom 3 pefcia Sdoxms ¢

3 o2 enil eoeMo e AT ;B NH; com géhais oy oo,

0
(}

£
o
|
)
(
N
I’
G

&3 cne®O By 0ed 0N 8ens =3—-2.3

(05 marks)
=0.7¢g
(04 + 01 marks)
{ii) do®o oo pao® Sgoe 20 91f oDoss g 8080 ouind e

dEa deary B8R Heo B 80 800D 5@80m Dithd) 588 md opi@n

{05 + 05 marks)
(iii) B sno'ge NH; gus Soufeos $Gomo Bemd oo odsim.
Sgmics = tfmed) sPme [ moEn
{05 marks)
2.3 g/ 10days
{05 marks)
0.23 g 2mmi
(9 + 1 marks)

- i - =13 ']
(V) oo, emolesidDd eoenmsd cfo Sgemd col dog 8558 8ul céwrn mS alids
”
ek
e

 oololo OoBos a8 Goodn

$SImBa - i eroewd (Senedinm) gEmaen glos 58/ Dee® g 58
{05 marks)
mBadm - gi) cufem (ememd) yEman s8adaed e 088/ s0ad gueama 2808,
(05 marks)
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(V) a8 918 anf edds Doind ememd el apdo emndsless a8

Bag® emems 8BS e 8P (eudes 5080 dBdd Ry §8)/ ¢dx 58

yon / 8980 ¥cud 3y 88
(10 marks)
(3) (A) com Sioed o0F. dosione 8000 x 10X kg O 200 808 een Sned £xed. G oy of

(a) oS &

8000 x 10*x 10N

(05 marks)
8 x 10”N
edzm 8GR0 sBms 518 £2, BxeDd eue ¢ e¢si® (04 + 01 marks)

-

(b) 0& & clnd; octing

8000 = 10°= 10N
(05 marks)
Bx10°N
adzm BEnd =Bm gpf 52, Bals emey ¢ zexim (04 + 01 marks)

(i) =) E8d 8 5888 oem SedB oo cod; endoedf So eliends oo
8900 3 ¢?

G =@ B &m® Hdud a8dD Bn E88w gne
{05 marks)
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(i) ) adoas cdel e

. SRR
ol qion B83&00 o

(@) G o Bans 85 ¢S 50 cmed H8 30 30 Goas A¢ GdSed ety givka
@I

u8esc  =(8x107) x50 x 107

(05 marks)
4 x 107 Nm
(04 + 01 marks)
(b) oo cgud plieed §md (=Sebln ¢? Sesdba &7
e Bemndin
(05 marks)
(€) oB, mEod 68 dLlBEE HEnL BBl ofeed ¢
camds TmpaT o8
(05 marks)
(d) gom (iile) etnie o gxd BERGD ey xdbsxin,
cEendlim glene 885 D Eod® cudE80 o wdl
(05 marks)
c) egads "BET =@
{05 marks)
(d) u¥ens 2:8208= 22 =88 B egs ES858m0 ofxf mdi.
{05 marks)

Question 03 Part A = 50 marks
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(B) 93638 s8ivms o o8 3 =
eoll »a0n eCac Su¢ oD ol S oD 536, &5 &
ag Boo wppneSle, 25 ool A, B.C oo Dace oddad 5 A.B oo D sc2l8¢ ¢on
egsn oloina eeodd Bp oo ¢f. Ef o0o ¢ ol=Zeaie oonond com Sed ¢=it)

@
gj’

i

&

2 )
9 @
[

G

(1

ol

oT>
(130 cOdaama choEe
A ednERD oltut @efd I S e BT 8,
B ol iy B/ spoed 00
D byt olf=Sed Oben Bolema oo,

(i) =ldeem cfie 2o xmBL A, B D el ne atug cedt o Uhn nemmosinf

8o00@ sesb g Olow
(1 A G’QG‘#M ‘
(2) 8803
3 D gepdd ewdonddn ()

Any correct answer (05 marks x 3) = 15 marks

(i) ¢oil» peooBET mBn ¢ ¥(B clioinad 08 RIWL)

(i) ogily» e@ucad 0o (i) e20edd oo 3§ BEDKGne wie 8y o¢ 5O ¢uind
Ceon Si=sas Funin.

.......................................................................................

(iv) gonid qout Opod Qe Dedlp@sBl mmaLad ¢?

08w ol (05 n;arllcs)

..................................... T R I S

(v) posid de Dhodinegd e sdramus o830 Slo ecn fusis,

(1) Fgendd v doxd (05 marks = 2)

........... WP o i 0w D R R R P R e N R R

(vi) ed=liSiggh oS o0 29 eodl g Shon gt ¢

dgBemaszd (05 marks)

rrrrrr Y T L N e I I T YT YT

Question 03 Part B = 50 marks

Question 02 = 100 marks
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(4)

(A) 8vem es:8e¢dd; =

S
eLnenn S¢@ 8n o

Am_ S
gcdn plSs

Y 28 edo &3 ¢S, 2080 cdatiiad® el ¢ cled'® Sr'\ o l eb, eo)w.’? =35,
~ o

Ix= |0(1+¢.1er)
(05 marks)
y=lo (1 + ay AB)
(05 marks)

(it) (a) a > a, =8,

;\;;ﬂ o 7

X e@i0s

0
fs
(o
’J

SO gue-clo oo X on Y anls 99 soidwsley!

(10 marks)

(b) 6 Lol RS agm srind o8 osn

(ii1) (3) cdasiic 45 CH B80S vy 29 cesl 5o o dubon dodidub Baiexdk
3 = (> g = (L) 5..:'4:9 oIESd
%3 2g eted Qued ¢? cogl ¢

ci /9w and
(10 marks)
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(b) déed BEDS euin =3 0@ =¢oi»

DD suE c¥eaT e O 40 °C & 88¢ 5yed® y8rene D e, B8 e
RGP0 ndmBe g c/one §000

(10 marks)

omod 50 20 @2¢) g Eadn

S8 & 0.5 mm ¢l 088 o8,

(05 marks)

(04 + 01 marks)

() s g=elm I and

Biem Dde/eeisn Om 8. v}
EEem D8¢/eedue = 0.02 (mm) @wd
EEiow Doe/eedss = H0.02 (mm)

(i) g &8Pl dpdils mEamno 858 fcond Bmed e odhen Sofls o
dizad o=t
=3
L _|,_=—'j
:_-4:
(a) poo dioed ecpmas Sols mif 7
={2.5+0.47)
{10 marks)
=2.97 mm
{04 + 01 marks)
ib) g (i) emoced ety S0xs S0c condced =88 R, Boal S00F oo

= (2.97 - 0.02)
(10 marks)

=2.95mm
(04 + 01 marks)

Question 04 = 100 marks
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(05) com 1 80ed qFctrier =on8D Sowon mica 2 o0l e smided uiE 150 o8 coiusied
o Doy i s e Sxflsy Boed B Emacag
eIt 130 o B0 Sl sy 2680 oedins SwdSe
edalogcdo | ofd oamd
ogm Ouge (o) | i
$1—200 33
201-350 | 27 .
351 — 500 I 4 |
301 - 650 | I8
631 - 800 21
$01-950 | 2|
oSI— 1100 |  ©
1101 - 1250 | "~ g
eaqd | 150

(3) (1) e a5

2 ORD: amiolidic oo wem 8382 Dued BFS¢ ¢ ‘
a&‘ﬁ!nl;!‘sc.‘—a:nm'_ uc."g oo | od@ens | .:-..:.*ﬁ_e:;a.-.' : oLED > | qgﬁm ofom . |
(medEEa) [ eabDs c8580
| [restmt P e ) oilmms
) | |!-‘-c_|_
51 =200 L
201 = 350 I 3_"_' ——
351—500 | 2 N e
501 :r'-_:Tl'r | _E-; | | N [ _!'
| 651-800 | 21 . |
. 801 - G50 | i2 | _ o Al N 1 ) I
| 9511100 J '
[ 1101=1250 | f - |
(i)
ko 3] BHE meem | sxd 288 =l g D af 2=
mrdmda (z3:8mm0mez) cmen 2fS5m afam
s5edmamee =E88n
(F<) E3oPBamed
51200 33 50.5-200.5 125.5 150 100
201 -350 27 200.5-350.5 275.5 117 78
351 — 500 24 350.5 — 500.5 425.5 90 60
501 — 630 18 500.5 — 650.5 575.3 66 44
651 — 800 21 650.5 — 800.5 725.5 48 32
801 —950 12 800.5 — 950.5 875.5 27 18
051 - 1100 9 950.5-1100.5 | 1025.5 15 10
1101 -1250 6 1100.5-1250.5 | 1175.5 6 4
150

For a given column, (column 3 to 8) if everything is correct = 10 marks
10 marks »% 4 = 40 marks
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b) gum = a3 Sed ohe & RnS cSE s da Iz,
(¢) g 2 Betd Sowife ooy 0500 0850 oEDDD SRme TR e oI oo s § ;S adond
(d) o ()5 © 8 < 58 nEEs Eams ~odu
(i) o= - SN B Sic® Sredds ;
(i) Es:dfed osind oolids S SIS =
(111) o= <% S 750 = IS Daort Sxc® e i O3 =
(¢) e 3 Oged ) S5® = > 3 3
3 O Sofed B3n ornd o e85 =
cbe 800 o oo 8@ ool
CE D
7
L S6
| 17
} 32
12
5 i
Onqd 150
f ‘ a tdelF £ o
(i)
X fix;

¥ —=

zf
(33 x 125.5) + (27 x 275.5) + (24 % 425.5) + (18 X 575.5) + (21 x 725.5) + (12 x 875.5)
(9 % 1025.5) + (6 % 1175.5)

150
(10 marks)
4141.5+7438.5+10212+103859415235.5+10506+9229.5 +7053 74175
= = = 49450
150 150
= Rs.494.50
(04+01 marks)
(Part a = 55 marks)
{b) 1250.5—-50.5=1200 =1199 &x7 (1250 —51 + 1 =1200)
{05 marks)
{Part b = 05 marks)
(c) HEGE =88em udn gms wewo (03 marks X 2 = 06 marks)

HdeD sdAE me g= wgw (02 marks X 2 =04 marks)
cases § cmey B58 sewo (02 marks X 8 = 16 marks)
(12505.0) cfss anedD gefdaded ofe w0 (04 marks)
(Part ¢ = 30 marks)
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d
1]

fii

{iii)

=

}

)

]

[Fiz. 433.00, As. £4B.00] zad Bem® eoos 228 aocs’: gpaesa
43
{04 + 1 marks)

Q1=23035 0R
[213 , 243] end Bami® goesd B8 goosis grnesD
{05 marks)
Q3=7105 OR
[693 | 723] ewd Ban® goust o818 goasts ooedD
(05 marlks)
01 02 Q3 242 =8 papeg @8 erwEeEl®
IQRE=0Q3-0Q1="710 5-2235=487 OR
[430,510] a2ad Bay® gooxd o838 goosts ooedD
(10 marks)

[21% , 22%] god BomB 2ncs @88 socsl: mnesd gudduda gizbed pohopiis
(05 marks)
=3 22a8007)
[5: % 150.2-% 150 ] = [31.5, 33] OR [31,33]
aud BxnE oo 28 anuxls snEED
(Final answer, 05 marks)
(Part d = 35 marks)

afjen 28 msE o Binssa gE= axm,
_ (L ATy IxEEIH (TR D)+ D)+ (E0E) _ 318

150 ERWL2
(10 marks)
Zaz e @B b S8 sPes Sawn 2eddEn §oe®
494.5
212

(gedfdEn ens omme @em, 10 marks)

Fe 139953 OR Rs 1400.00
(g0 EExd @ew, 04 + 01 marks)
(Part e = 25 marks)
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(6) @o8s pf8Sss Lo ao@=! Exmnd 588 g obas Ssio phge aledd S0zd alosl o,
es® Ged ymlebs o5F. M3 oilevicaSy. snvadsi vy enmed ceed BE LY el
05 e=neSs oS 58 comdone =6sn. (1= 3 o3 neoda,)

{3) cxoed Bcd co Hissa ng 320 @ oFoenic eoded xE 9O cGUH qleds exed 807
36 m=t B85 &> oxlow ¢l

(1) allenic emiled oxs® g0z 6 m=3 30 coviizion

3 Sged medins enicae emBEd cun Gined cosid 05 ESPRNVS 5 msS (O
8 A DY crtvsedd sokiodzn ¢ A 80 3 mS ¢Oxf 880 B oxfuzed 3 M g negiosf By
o4, DGO Epmin. oEed Eenid A B ending enia e Up ot o,

E
DGy i
3 §,
S S

A<s—>R C D
im

<—rp

Sm*¢

(ii) A BO (8 g0 @it onlae oane Boxy,
(ii)) Doy aboenided Temical. A 80 D ¢t o8 amissa ¢f
(iv) @med co DEgdpess Bats (2ol nans ooy,
(b) exfed cod duoed cod and apeans 3.2 80 semanioy ¢l
(1) m:ﬂqoa\q;t ™ Snoed Go emaTin.
(ii) oMQed ads st a ¢
(INegID a1 ¢ mosin cel (o8 Sl ans Bisin,
(€) Bpfyoad ot emaled cxile Saden veme oo,
W) QoEd giGeviped U eoods
(i) gaeB exined Lo eoale
(1) =ome B0 018 B0 ;8 vog
(d) a2 o188 g, Gioed comits mB o5

ade i 2080 65028 an. 0 i
80" = 99O HEsma o3 .

8¢a e i
(i) 0 OB ES soaaziy,
(i) o add e foegmamsds W, (0..
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M cxrfeme “28ad enag™ vrim moed. sud emlum iy oxf Dot Egnd= wdm md,
A0 02 p8e anodmne B Halnd, ¢ e o EimBe gna.

a) i) ¢ = 2mr

36=2X3Xr
_ 38

ez 38
&
r=6m
i)
3
A % B
Bl ez 2
g — 3 safemd &
ARp= 3 Hemiesox m
tanf =1 [ewd 8 =tan '(1)] | 285m0
Hemieach.

8 =45 or =
4

n @ =45 or Z
4

T

i) AD = AC + CD

=546
=11m
1)
h
AL D
11
Method 1 Method 2 Method 3
h | Sendes eem Hewdass
tand 11| =2B5E &b 5Bd8 =g 8.
h=11x1 ~h=AD W h=AD
h=11m h=11m h=11m

zgecaa 05
#zdne: ena 05

B2End: ewnm 04 +01
15

"0 5B el 2uxEmIa

25@cBea0¢ A sevs HED: e 10

SEnd ene 05
15

HERC: expey 04+ 01
5

Bedd ewd cun: e 10

BEnd: emes 04 + 01

15

a gl sew g ey 30
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b) 1) smmed meonel §dce=11—-6=5m af 858 (M): e 05
cemasles=3Im, semed ca=2m BEnd: cmay 04+ 01
10

11} zEned ads = 3 =1m

i)
1=+37+17
1=+10

[ =3.162
l=32m(1d.p.)

smmed o 257 o828 (M) exa 04 + 01

5

siinndd 558e 5ei® (M): e 05

=o£h end cnd somdeast 58a0 (M): @xo 05
SE€md ca® s 1md: zxmes 04 + 01

13

b om0 sew g =xpay: 30

c) *oB8 emfedl. swn HHdE Diose guim el entans Slose Son =d ewnd 88 =md

E@AmE, S0 ermsEmm md, B8 eneag E5mEsin.

4y

i) SA = = 2mr?
SA=2X3x36
SA=216m"

i) 5A = mrl
FA=3 X1 %3.2Z
SA =9.6m’

i) sxmmed 2w Eneang=2xX2=4
Sunes 4 =4 X4
SA = 16 m’

zge: gna 05
asdaan: @ 05
HEnd: cwe 04 1+ 01

15

gae (M): gnea 05
smedas (M): ema 05
BEns: oo 04+ 01

15

(M) g 05
(M) g=e 05
HEEno: ooy 04+ 01

15

¢ emude wew ¢ pwa: 45
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8 oo Bvn @¢ulned®xsind cwes edadmweh

d) 1) codens clSumiEsi= % ® 80 aam-ciSum BmmE el Dl mina: e 05

4 4
=S SEnd: @pw 05

10

i) Zha Em =rf or % X 2mr smma (goam end a8duem): erea 05
=6}{§ or %szﬁxﬁ sedan: epe 05

=8m (or Ba—“ m) Hend: gue 04+ 01

15

d =00 sew § oy 25
Total marks for Question 06 = 150

{07)

(a) B=bE8=

DIRRICT DO abas otias oobd oplds 601 SR RD @oasnnd 3l o
Cle8, Jevafin eoemd lound? ¢S am® oS, ;\aﬁ:ﬁ e SOBL Sl 1Dmed s

o
Swodh oo mS o

(1) sos OETm

!
=
i
9
o
e
U
€&
Q
&
L
9
«
g
9
§

(il) 2eSmd8n DiEde? CtnuBn eowend also ey m8n Sl gl QO agms cagwut

(111) ;:‘..a &ft:)" D oy dexeSio ecemiS. "dol e

o
&
iy
@,
u
4
9
‘.A
|
N
g
5]
0
g
4
5]
o
4]

\ < o - - 3 Bon ™ os ¢ Jedesns
(ii) Bpetet ermBegdfiD oIS cia (18 e mosiD By Sledad s in® e Seow g
=33
A aufid
MEE Dot

(1) g2z QR W emnBenidl asn B3 S8 98 agad o

(2) SRR smad Gif e oS = ol Eovm, ‘

(11) 2 SFaxd, DI DU el S sebasst gce S-S otess ;:’,\'(J_‘] :_'-‘:p(.""(-_
iy

(Iv) Yo s2emndicy thad=Sel oS ooasniitn 8ot S vl ol ol S8 4

ZoRAE I=in

LAY :\‘3:‘ e o =g vB o

(i) e808e Sdorsy cained 8o a0 Qo Gavin,

(i) =8 eoanw) Sudfox SBad 2oeloot 1D 808 s gBUSe Hulte s owmcios
il e S moda ol =osin

(a)
(i) 5EZEsT (N), emednd:d (P) w0 63:0:8¢8 (K)
Any correct answer 05 marks x 3 = 15 marks

67 — mSueanedin 0w B¢ (CReaied ©8eu0s) / g.om.e. (¢.00¢) Bwins - 2021 (2022)



8 Gom Bow e¢lnedxInd cwws eFamned

(i)

(i)

{vi)

(b)
(i)

(i)

(iii)

(vi)

(1)

(2)

shmded eudsm Bo w08/ gesissae
swg S0tqs

B guena £F (B2 208E» 59 ewd 30 sady dox 52 swd s S50 5l 8258)

St wdl E¢88

eftomaTom - gt

05 marks x 2 = 10 marks

R - wEE0 afca sud niEdedudeciln 2f8ce ewd ge@iHul el
Accept the chemical formula also, 05 marks x 2 = 10 marks

z@ mfEn cfde mew @i 09 of (cudEs waln) 580

dedn sudum 58 308

glans 3%esc gnagf/ela: u08.0 558
Sag® sl sewr B srmed
tmddmaosl sEewdemant Smep &8
2 ouEd dan 88

(Ghid el don 58)

4}

mddim seaewde N swd P 58hescs ;5 B8 ewd
gt Adfsd D cedes ol ghevud e Su v

i3

[

c@iood gD Bd o8y cursm 8208 meme B um

@00 e®ea o@w 5550 S8

800 g e 98w i 68

cuited midel aBy adf o H58
ofarfOist ale yife S0
widesdueciid a@es eBv yidc H58
380 8w yHEe H6E

meddim esismd gmlidndfle ¢ds B vem® =8
Hafenema/minae sbad Jome8 (58ada a8 mBias)
@andC withriancd e 2-08lme me vidlo (sugeds Hscda o)

05 marks % 2 = 10 marks
Part A = 45 marks

05 marks x 2 = 10 marks

10 marks % 2 = 20 marks

05 marks » 2 = 10 marks

05 marks x 2 = 10 marks

et 5Eenal sBemd cudus sl cth 88/ m1ga eudes 8ol cosls] @i 88
B.@ mate D8 g mdsin

sl el O wdm e @8 8/ sul Os s 80 eis e 88
shudecst middm (Hes) e elo olx 28/ melammdne

Any two correct answers 10 marks x 2 = 20 marks

Part B = 70 marks
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C

(i) 28ctn mOna ai B58
a8 mdend
Hucom guetls Z8ena 2] H6E e andn Sen® H62
05 marks x 3 = 15 marks

(it} e aiE H0E Bew Hlu.Ha/me cumden wadma
Hdeewm B @ed € Hoctm goels sH0Smdiena
Hulmema wem 50 BB/ mEmbSn anes wim S68
S&Any two correct answers 10 marks x 2 = 20 marks
Part C = 35 marks

Question 07 = 150 marks

(08) 8. (3) acciia oS8 ST siorna=i Tavomy c=Xid iy godd Mmool s i eesh Mas

L

L) ORI YR 4 ) v £ 2 - g o8 S B ALENS AN

) oS ¢ - (o8 S gqd - el (w1 66

L

()

{a)
{i) 88 SedEm (zme 5] BudEod Bdw §Em el 80 mEn e

05 marks x 2 = 10 marks

{ii) (A), C o0 D moasfiles (88 S8n % eom e B e i ecalm)
05 marks x 2 = 10 marks

(iii) gneils Blo 0108 Hen Setim 2obuln des® alB A58
28 BEetn ahh opfiel a8 el @i opfiE 807 dfiwendn efss wminag aB8 R
el af) B58 exmem Soe® af) S58
10 marks x 2 = 20 marks
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{vi} et Hiduecms Bewn eum wlima D8 A58
mom 9P H8E Heo abaded 858 Desml g08 A58
minded dmn Bm dieadim Bea0m a8ema gi] 88 Hen ubnd wifia g8 58
Any point 15 marks
Part A =55 marks

(B]
{i) gl De sandd AT memes S08 sem (DB 2D H58 sewm)
10 marks
(ii) 2Bl - Sogf 55D Aflm 5-5 uddd xflm Hefsacne S620 ©5m =dE (af) 2g)
Sdmmidd mdm @¢ O - 5-5 wdef Oxills Admema Bgw win mdned afod 92
dxltis sB&
10 marks x 2 = 20 marks
(i) 5-5 odef Gxfim
10 marks
Part B = 40 marks
(c)
{i) wBmom0d eddens 2E 58 (a8ad cdeagls gue @B)
Beadal didal wm 88
g Jinedim Bida
COD z%d BOD e 9@ o
05 marks » 2 = 10 marks
{ii) aecin gl B0 swd & areud® S8nu b oxlm
Seaddmae § el 9 H68 sud ol me el eme i B68
Any correct answer = 10 marks
{iii) Ghd eEto afm o8
v oo @wedm ¥ Bevm quiy S8 dag 88
mm 2@ aflendsendg HOE
erod Db dah &8
gind f edn gunes B8 (S5asl0/anaf0 mf 8:58)
Any correct point 05 marks x 5 = 25 marks
{vi) e SIETa

Eene ey sadens
Any correct answer 05 marks x 2 = 10 marks
Part C = 55 marks

Question 08 = 150 marks
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8 om0 B e¢ulnedsind duws eCaned

(09) 228 amame olenid So. teod k. h, 0O et sqom 88D BmyE oxlus ecos now a5nE

peobie wag £0 aady momeay 6o oded 8% S a. P+ pgh + %—pr,’ =P+ pghy 4 %pvg

(2) 2203 55 avnne et S BRD e eqn=f mem gon o¥asae mrn Gl gamaded

20 U5 gl ecHiiyin, P,+-_|;pv,: =P24%p\'§
- -

(b) Bmsces cbw ¢ sSaced con Jired ¢Hn g3 =87 que gned 55 siei B ot
edisaead srinZs! ongs oo orin@xl gof s o8 c=es ecmo Dty e BEetEA Yy, =5 ms
ooy, = 10m s B g 280 BESES P, e P, o8 ndpocsd €95300 on anos emeeSe
WS oST 98 U8 pondene oIy sus ds SGme ISR

Loma p.
L pefoz e=l0ms?!

>

o

Lo gedas v=5my!
B&ma P,

BIEIe-NC

(1) 20 (3) exdsd B3 oln =38 (P, - P,) 85 arads eqm), smsnad Goml,
(i) Lmed eadiua p= 12 kgm 28, (P, - P,) Bon axinic peano oo,

(i) odpoced ol Lhadea 0.5 m* o€ 2o Sdicy DHHBS P LOOC PE Y9 sele g
mod Ses Seime oo, i

() Bodo BBS adiere Pred 4208 8¢c B8 mem
By oop¥st Gioed G0, ¢88 o3l clad Bed .
(o =40 em, zge =2 cm, o= = 2 mm)
ef 2doe ped ¢ coe? OOWERT ¢ EY
elnd o, 83efS 23c olread do ady
(Bened o8l cled grg e2elD ax@ .

40 cem
(esxde = 2 mm)

el elog
o Log exgld

]
\cec = 2m

(1) =EuSRd (Soned ov olirced geeling
R g7

(IR Geus 08020 eon cufn, 85 olod odml SHotee PGS DOD,

Uiheseoe D3¢ 008 dec exgeds 8% oled B8 2 em =t 38 sorrnston cfod 28 8
M8 8¢ VGEHY IS, &Y o0u IR 48 ched e o 2% 107N m? eo.

(iv) 088 oled qog eneloll B8m og Beoss ndom 22 pipae PeY cEastd B8 apnte gdiasf
exnel. 282l orfigd onlE oovin,

(a) P+ pgH + pvi = P, + pgH+ 1pv3 |

(20 marks)
0B, P+ Jpvi = P+ Spv

(10 marks)
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(b)
(i)

(i)

(iii)

(c)
(i)

(i)

(iii)

{vi)

0T

wEm/ =@ oo g (h1=hy D and, 288e) pgh =g dfema ade-g 8.

S50 P, + %pvf =P+ %pvzz

Pi-P: = %p(u% —v)

P1-P: = %=12 =(10°-39
=45 Nm?

&2md deas =(45) = (0.3)

=2235N

Emfe e HefE [ o 98 Be® S8afE =R oFEgl

28 dee = (2 cm) x (2 mm)

=2x10Hx2 =107

(20 marks)

{10 marks)

(10 marks)

(15 marks)

(04 + 01 marks)

(10 marks)

(09+01 marks)

(10 marks)

(05 marks)
(05 marks)

(04 + 01 marks)

(05 marks)

(05 marks % 4 = 20 marks)

=4 x 107 m?
Fl YAde
Y=— ORF =
Ae
2 (2 x107)x(4 X 107%) x (2 X 1077)
- 40 x 1072
F=40N

som 8850 8= B ® dom

dad8 =590 vdw end Jea ehimd / sPEdnD sifedriesl =,

@8 sfed 2820 nidoi 2¥adce 2de ecn um ermed.
o088 58a 98 @D [ vl 582 o) =

(09 + 01 marks)

(10 marks)

Total marks = 150
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8 om0 B e¢ulnedsind duws eCaned

(10) (a) ooe mom S8 2500 oynpEs oo Sicodoest el oo 2 V 58 miogeed eS80
05§ &85 SedEn ne 53, 10 A oS eSocs ndwm o o8, e83vion Uesic eSediue
emmESe oS e

230V 2 ’:w: — E¢8 tuena

(1) =osm qeded ofedioe aame ooxn,

(i) S50 | 27 mens 5 Sogdyn oo a=ife, EECRY vaEma pixin.

(iii) o=8 orogEs S8 5 kg = 0cf 882 = mbn 208, mEned 2o Ji8mb s2nIg x:;,!"aud
S05¢ msdes cdadta 3 °C sad coodons oo, 284y 720 op Sdiamos
DG mizin, S3%c BEIU mio %29 3900 J kg K el

(iv) e28rin fudie gBesioa (102 Q0 afamiin Lusie a=tf WALE Vot o888
wams ooz,

(b} odBa &n S 28 oeiCE oS 3 N o Son 8dd aceds ofin dGoed eosiy oid o8f
68y Cied. B gries B0 et qidlE plias 2x 107kg m’ of. mdBad ava 02 m &
2Be SdCemted 85 8580un and B Gm excn M Andons B,
vEG O8os afarll unia con § o

t=lu, r=Fr, I-.':-i—lwz. I=mr, 0=, w:mo,«#-q;_.‘,;os%u%m’. o = ) + 200

(i) 288a g2 saxn, DS oane oy,

(i) S2s8ime, eoiBgivae oo o038 plas and o28iCmbs cosilil sladgan
Gaxin,

(i) odBed snifin Hiasn ocana Disin.

(iv) odBe GO oonn ol
(1) gpiln Betromas
(2), $af&o gebos
B 23, (=380 ecnsin)

W) onlg (OB enf BuSo cosit®sf, odBe L0 25 d ow=Be®? N 8o £84 oe 439
Dol DM oI,
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(a)
{i} muEm caded gfedica =V /|
(05 Marks)
=230V /10A
{05 Marks)
=23 0 (chm}
(04 + 01 Marks)
(i) Efiindm &, mume Bdnf Hucdm mz ads (Q)=VxIxt OR PxRxtOR VTfr
(05 Marks)
= 230V x10x(1x6B0s)
(05 Marks)
= 138,000
(04 + 01 Marks)
@0t
memEd Me@mDa = Vx|=230Vx10
= 2300W
(05 Miarks)
mzma B8n Hucdm ms aude = muned HeBma xt
= 2300W x(1x80s)
(05 Marks)
=138,0001
{04 + 01 Marks)
(iii) Brnd 7 ®E mozme Huebm mese (Q) = 138,000x%7
= 966000 J
{05 marks)
83 cdinxi=n. ®ese = 0 =mcAb,
{05 marks)

mechd, =138, 000 x 7 = 566000 )
For equalizing the two sides {05 marks)
A8 =7x%138000)/5kgx 3900 kgt oct
Units are not required, For substitution (05 marks)

AB=43.5°C
HE DecdendDs = 30+49.5 =79.5 °C (K £8=7 §2¢ 88nd ESum wym)
{04 + 01 marks)
=T
canied gnE h® = Emedl T 2E Haecdm @¢ mua ! (efmedfen x @) mon
hdmdl)
For equalizing the two sides (05 marks)
= af{mxc)
(05 Marks)
mchB, =138,000x=x7
(05 marks)

{138,000 x 7) / (5 x 3900)

For substitution (05 marks)
49.5°%C
30+49.5= 79.5°C

58 Je cdeansdDe

{04 + 01 Marks)
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{iv) Deadmad moes wadies = I’xR
(05 Marks)
= 10x10x0.02
(05 Marks)
= 2W
(04 + 01 Marks)
(b)
(i) mEBs @ smem Bundfne veama mdnim
Zrsaifmes (T) =FxR
Zrmdfimea (1) =30Nx0.2m
{05 marks)

=BNm
(04 +01 marks)

(1) T=1la
{05 marks)
(iii) mebed sndfn JDdeme neamna moslm
T=la
6 =2x10%w
(05 marks)

ot =300 radfs? or
=300 Nkeg'm?
(04 + 01 marks)

(iv) e D2 25 = smdmeiim B9, swnm S mesmo o,
L
(1) e=dé&m Sddtonma = 2w X 25
(05 marks)
2 X3 %25
=150 rad

(04 + 01 marks)

(2) w®=w: +2af
(05 marks)

w? =0+ 2 X 300 X 150
(05 marks)
w = 300 rad/s
(04 + 01 marks)
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(3) S22 axfde = %Imz
{05 marks)
=§>< 0.02 X 300 % 300 =900

(04 + 01 marks)

md8e 20 25 2o Iefl mom 3¢ mlive 28ylamearl® ndBed tiew axdia
G928 sBodnma Jih ol camdamne md8s], eud
@i el mdm ¢ modus = mdled tham e Se
{10 marks)
22 25 mdmEeEE mom @ mlaas =900

(08 + 01 marks)

@wd

28 25 momSe®l mdm Ee mliva uEieme =QEe X ZJE gEx ¢d

{05 marks)
mE admgd = 2nr X 25
(05 marks)
=2xX3x02x25
=30m
(05 marks)

22 25= mimEe®s @2dm @e Mo 58r1ese =30 Nx30m
=900JorNm
(04 + 01 marks)
@@l

mom @¢ mofaa 5ese =10
(10 marks)
=6 x2mx 25 (or6 x2X3x25)
(05 marks)
=9001
(04 + 01 marks)
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